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Question Number : 1 Question Id : 953357394393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The nature of relationship between development and learning is viewed by Lev Vygotsky as having

which of the following characteristics?
Options :

1.Itis linear in nature

2. The relationship is static in nature

3. Learning often precedes development

4. Development often precedes learning

Question Number : 1 Question Id : 953357394393 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357394394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The developmental theorists who view process of development as having substantial plasticity

throughout life are likely to emphasize the importance of :
Options :

1. Heredity

2. Environment and experience

3. Domain specific intelligence

4. Crystallized intelligence

Question Number : 2 Question Id : 953357394394 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357394395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Discontinuity’ in the developmental process refers to

Options :

1. New ways of understanding the world that emerge during the process of development.
2. Negative breaks in the developmental process.

3. A downward negative trend in development.

4. Interference in the developmental process

Question Number : 3 Question Id : 953357394395 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357394396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Authoritative style of parenting / child rearing is based on:

Options :



1. Making decisions for the child
2. Not listing to a child’s point of view
3. Making unreasonable demands from the child

4. Engage in joint decision making wherever possible

Question Number : 4 Question Id : 953357394396 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357394397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, the process of developmental change takes place through which of the

following specific cognitive functions :
Options :

1. Experience and social transmission
2. Assimilation and Accommodation
3. Maturation and Experience

4. Social transmission and maturation



Question Number : 5 Question Id : 953357394397 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357394398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 5 year old child was given 10 pebbles by her teacher. She put the pebbles in different formations
e.g. a short line, a long line and a circle. She counted these pebbles repeatedly. Which of the

following cognitive schemas is she attempting to attain according to Jean Piaget?
Options :

1. Seriation

2. Transitive inference

3. Nominal scale

4. Conservation of numbers

Question Number : 6 Question Id : 953357394398 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357394399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, the process of cognitive development is mediated by:
Options :

1. Cultural Tools

2. Cultural Modes

3. Cultural Signifiers

4. Cultural Derivatives

Question Number : 7 Question Id : 953357394399 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
+E ATICAEh! ¥ SR ST G % [0, e 5 el T e 2

Options :




® F +
Hhlden @11/ TR

.- i
o l==hldsh C-*':I;l"-ulﬂ'l

Question Number : 8 Question Id : 953357394400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development in ‘Zone of Proximal Development’ according to Ler Vygotsky can be facilitated

through:

Options :

1. Collaborative dialogues
2. Observational learning
3. Reversible thinking

4. Expository learning

Question Number : 8 Question Id : 953357394400 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357394401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The stage 5 of post- conventional morality as given by Lawrence Kohlberg is marked by:
Options:

1. A free agreement to follow a social contract for the benefit of humanity

2. A free exploration of ethics even beyond social contract

3. Formulation of moral rules that bypass ethics

4. The need to appear to be ‘a good person’

Question Number : 9 Question Id : 953357394401 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357394402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A progressive educator need to embody which of the following attributes within a classroom:
Options :

1. Empathy, control, care

2. Empathy, control, discipline

3. Empathy, realness, care

4. Empathy, realness, control

Question Number : 10 Question Id : 953357394402 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357394403 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are major concerns about using the concept of Intelligence Quotient to

measure Children’s intelligence?



(i) Instability of Score
(ii) Cultural bias in tests
(iii) Product -orientedness of tests

(iv) Labelling of children
Options:

1. i, ii, iv

2.1 i, iii, iv

3.L i, iv

4.1, iii, iv

Question Number : 11 Question Id : 953357394403 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357394404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An experience of intra- personal intelligence within a classroom according to Howard Gardner

refers to:

Options :

1. Ability to handle social situations well

2. Ability to understand meaning and rhythms of others’ speech

3. Knowledge of one's own complex feelings, strengths and weaknesses

4. Appreciation of aesthetics and beauty.

Question Number : 12 Question Id : 953357394404 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357394405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The role of a teacher within the classroom is to encourage children to express which of the

following attitudes related to gender?
Options :

1. Gender typing

2. Gender constancy

3. Adopt socially acceptable gender roles

4. Gender - stereotype flexibility

Question Number : 13 Question Id : 953357394405 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357394406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a classroom where students have diverse learning profiles, a teacher needs to :
Options :

1. Identify normative level of teaching

2. Find creative ways of engaging with diverse learning pace of students

3. Create special achievement and remedial sections



4. Do ability groupings within classroom

Question Number : 14 Question Id : 953357394406 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357394407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Formative assessment is generally used:

Options :

1. To provide teachers with a rational basis for preparing tests /exam papers

2. To help teachers plan better and provide supportive, non -evaluative feedback to students
3. To help students develop good test taking skills

4. To discriminate appropriately between ability levels of students

Question Number : 15 Question Id : 953357394407 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357394408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Multi-cultural Education is aimed at:

Options :

1. Educational equality for children form different cultures within a classroom.

2. Educational equality for children form different cultures within a classroom

3. Showcasing dances / music of different cultures on specific occasions like annual day of school

4. Creating special sections in schools for children belonging to different cultures.

Question Number : 16 Question Id : 953357394408 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357394409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The education of learners from 'disadvantaged' and 'deprived' backgrounds can get negatively

influenced by which of the following

(i) Stereotypes

(i) Lack of understanding of Local Knowledge Systems
(iii) Top -down curriculum

(iv) Curriculum based on local culture and language
Options :

1. (i) and (ii)

2. (i), (i), and (iii)

3. (i), (ii), (iv)

4. (i), (ii), (iii), (iv)

Question Number : 17 Question Id : 953357394409 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357394410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Creative thinking is not facilitated by which of the following:
Options :

1. Originality

2. Tolerance of ambiguity

3. Convergent thinking

4. Flexibility in thinking

Question Number : 18 Question Id : 953357394410 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357394411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child with locomotion disability joins a primary school. Which of the following would not be a

facilitative strategy for inclusion of the child within school?
Options :

1. Provision of allocating class on the ground floor

2. Empathy- building among peers

3. Appropriate infrastructural modifications

4. Showing sympathy for the lack of ability

Question Number : 19 Question Id : 953357394411 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357394412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which if the following strategies would not be facilitative with respect to children with specific

hearing disabilities within regular schools?

Options :

1. Relaxation in specific domains of learning, wherever possible
2. Reasonable accommodation in curriculum

3. Continual negative comments on errors committed

4. Individualized educational planning

Question Number : 20 Question Id : 953357394412 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357394413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

" Success" in schools should be broadened beyond specific academic achievement within school to

include:

Options :

1. Training given by coaching institutions

2. Development of socio - emotional capacities as an important part of education.
3. Extra tests which can be done at home

4. Constant focus only on areas where a child is ‘weak’

Question Number : 21 Question Id : 953357394413 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357394414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Conceptual clarity can be said to have been achieved when a student can:
Options :

1. Recall information given correctly

2. write down information correctly

3. Clearly remember the definition of a concept

4. Apply concepts learnt to real life situations

Question Number : 22 Question Id : 953357394414 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357394415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To enable children to become effective problem -solvers it is critical that they are given

opportunities to :

Options :



1. Do experiments only in the format prescribed in the textbook
2. Discover a concept through independent thinking
3. Take extra tuitions wherever necessary

4. Learn primarily through audio -visual aids and smart boards only

Question Number : 23 Question Id : 953357394415 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357394416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The errors that children make during the learning process can be:
Options :

1. Used to ascertain their current ability and intelligence.

2. Rectified immediately without feedback so that they are not repeated
3. Seen as normal and acceptable part of cognitive development

4. A distraction in the learning process and should be minimized quickly



Question Number : 24 Question Id : 953357394416 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357394417 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the role of children's emotions in learning?

Options :

1. Emotions distract children from learning and therefore need to be controlled

2. There needs to be a clear disconnect between cognition and emotions of children for effective

learning

3. Emotions give meaning to learning experiences and need to be integrated within learning

process

4. Emotions make learning process ‘messy’ and unpredictable.

Question Number : 25 Question Id : 953357394417 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357394418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Children can be encouraged to become intrinsically motivated learners by:

Options :

1. giving rewards for encouragement

2. punishing them to avoid making mistakes

3. learning form the mistakes made during learning process without any negative penalty

4. encouraging teacher attention to performance by special achievers within a classroom

Question Number : 26 Question Id : 953357394418 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357394419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following characteristics are there in ‘master oriented learners'?
Options :

1. Low fear of failure, incremental view of ability

2. High fear of failure, entity view of ability

3. Low fear of failure, entity view of ability

4. High fear of failure, incremental view of ability

Question Number : 27 Question Id : 953357394419 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357394420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a hindrance in effective problem-solving?
Options :

1. Activating the right schema

2. Response set

3. Identification of the real problem

4. Application of heuristics or general problem solving strategies

Question Number : 28 Question Id : 953357394420 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357394421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Encouraging students to compete among themselves in the classroom can have the following

consequences. Which of these would you perceive to be harmful for a child’s growth?
(i) It creates ‘winners’ and ‘losers’ within a classroom
(ii) It increases the stress and anxiety level of students hampering their cognitive growth

(iii) It can create ‘star’ students within a classroom whose achievement can be source of pride for

schools

(iv) It can prepare students to fit into the competitive, market based economics.
Options :

1. (i), (ii)

2. (i), (ii), (iv)

3. (i), (ii), (iii), (iv)

4. (i), (iii), (iv)

Question Number : 29 Question Id : 953357394421 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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o (0), (i), (iii), (iv)

4. (i1), (111), (1v)

Question Number : 30 Question Id : 953357394422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The process of meaningful learning needs to be mediated by:

Options:

1. Personal philosophy and perspective of the learner

2. The knowledge ‘received’ by the learner from the teacher

3. The requirements of the curriculum geared towards summative assessment

4. Based primarily on views of expert

Question Number : 30 Question Id : 953357394422 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
70T FE 3 AT R | e Bl 22

Options :

e A [ . =,
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Question Number : 31 Question Id : 953357394423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The number of composite numbers between 101 and 120 is
Options :

1. 13

Question Number : 31 Question Id : 953357394423 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

101 3T 120 % o= TRt WisT w82

Options :
1. 13
2. 14
3. 15
4. 16

Question Number : 32 Question Id : 953357394424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

s 5 g
A rational number between 3 and i is

Options :

7

Ll | =

e
oo

Question Number : 32 Question Id : 953357394424 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



5 a0 4 = =
—= aﬂ'{g T S U UHHT ST 6
Options :

7

. 8

| =

o)}l

Question Number : 33 Question Id : 953357394425 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If 504 = 2P x 39 x 77, then what is the value of (2p+g-r)?
Options :

1.9

Question Number : 33 Question Id : 953357394425 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Iz 504 = 2P X 39X 7" 2, & (2p+q-r) FTAF =-

Options :

1. 2

Question Number : 34 Question Id : 953357394426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
8% x V1252 = /43 is equal to
Options :

1. 50

2. 40
3. 100

4, 80

Question Number : 34 Question Id : 953357394426 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(V84 x V1252): V43 Famer .



Options :

3. 100

4. 80

Question Number : 35 Question Id : 953357394427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The LCM and HCF of two numbers are 1485 and 33, respectively. If one of the numbers is divided by 31, the quotient is
9 and the remainder is 18, What is the other number?

Options:
1. 165

5> 198
3 231

4. 264

Question Number : 35 Question Id : 953357394427 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST RETeR 71 LCM (F.) 31T HOF (7, ) 59 1485 3 33 8| 7 0 6 v e 31 31 ¥ i fen &, =1
W O 71T TG IB%I@?F?@THT%?

Options :
1 165



, 198
3. 231

4. 264

Question Number : 36 Question Id : 953357394428 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I X is subtracted from each of 26, 24, 56 and 49, then the numbers, so obtained in this order are in proportion. What
Is the value of??

Options :
1. 10

2. 11

4, 15

Question Number : 36 Question Id : 953357394428 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

3 BB s R Ry . s . 4 2X—6
71 26,24,56 A4 T TR AT X aeﬁut,sawwmq@mm@w%ﬂT FEA L

Options :
1. 10



Question Number : 37 Question Id : 953357394429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A factor common to both x> +7x +12 and x* — 5x — 36 is
Options :

1. -1

2. #+t3

3 x+4

4. Xx—6

Question Number : 37 Question Id : 953357394429 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

x2+7x+12 # x2-5x-36 § U IWAHY MUET B-

Options :

1. X+l



Question Number : 38 Question Id : 953357394430 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

IF4— z{x:‘] = ; (2x + 5), then @ is equal to

Options :

=
1. 3

SRR

Question Number : 38 Question Id : 953357394430 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

— 1 i P 1
Ttz 4 — @ == (x5 3 X

ST 2|

Options :

3

1. 2

N | O



Question Number : 39 Question Id : 953357394431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
if(3x2—6x—4)+ (4x-3 —x*)— (5+x —2x%) = (Ax*+ Bx—C), then what is the value of
(A+B-C)?

Options :
1. 10

4, 16

Question Number : 39 Question Id : 953357394431 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TR (3x°-6x-4)H(4x-3-x°) - (5+x-2x7) = Ax"+Bx+C &, 1 (A+B-C) FFM T 7

Options:
1. 10

2 12

3. 13



4. 16

Question Number : 40 Question Id : 953357394432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i 1 1
ifx + ¥ = 3 and x2 + y2 = 29, then what is the value Df;—F;?

Options :

Question Number : 40 Question Id : 953357394432 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

- 1 4
TE x+y=3 W x*+y"=29 2, 1 — + — H A -
] J x y
Options :
3
1. 29
3



Question Number : 41 Question Id : 953357394433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The external and internal radii of a cylindrical pipe are 16¢cm and 15¢m, respectively. The length of the pipe is 63 cm.

What is the volume (in cm3] of the material used in making it? (Take m = 27—2 )

Options:
1. 5940

5> 6039
3 6138

4 6820

Question Number : 41 Question Id : 953357394433 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T SR 29 3 6T 9T AT ek BTt 36T 16 cm 34T 15 cm 3] T30 261 #0863 o 2| 30 & & e

. 22

N8

Wﬂm(cnﬁ]?(ﬂ = 3 )

Options :
1. 5940



Question Number : 42 Question Id : 953357394434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The perimeter of a rhombus - shaped field is 400 m and the length of one its diagonals is 160 m. What is the area (in
m?) of the field?

Options :
1. 1600

5> 4800
3. 6400

4. 9600

Question Number : 42 Question Id : 953357394434 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

W@W%W@#Wm I % 2T 50 T e 31 e 160 m 2| e 31 SPTe (m %)
B

Options:

. 1600

5 4800



3. 6400

4. 9600

Question Number : 43 Question Id : 953357394435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The perimeter of a trapezium is 188 cm. and its area is 1625 mZ If the distance between the parallel sides is 25 cm,
then what is sum of its non-parallel sides?

Options :
1. 36cm

2. 42 cm
3. 48 cm

4. 58 cm

Question Number : 43 Question Id : 953357394435 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tt e 1 T 188 e 2 31 08T 60 1625 cn’ 31 7 T e 4 A1 25 om 2, R g
ST, 44 1 2

Options :

1. 36 cm

2 42 cm

3. 48 cm



4. 38 cm

Question Number : 44 Question Id : 953357394436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In A ABC, AB = BC. Points D and E are on the side AC such that AD=EC. Which of the following is correct?

Options :
1. AABE = ABCD

> AABE = ACBD
3 AABE = ABDC

4. AABE = A DBC

Question Number : 44 Question Id : 953357394436 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A ABCH AB=BC |
ﬂEITACU'{ﬁED T E M UFR 2 5 AD=EC ?| = g g a1 o2 22

Options :
1. A ABE = ABCD
2. A ABE = A CBD

3 A ABE = A BDC

4. AABE = ADBC



Question Number : 45 Question Id : 953357394437 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The Sum of all interior angles of a regular n sided polygon is 1800°. What is the value n:n‘%‘L ?

Options :
1. 6

Question Number : 45 Question Id : 953357394437 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

4 = - " - - n+4'
n ﬂmmmwmagﬂammﬁmﬁamwwmooo%lT FTIE E-

Options :
1. 6



Question Number : 46 Question Id : 953357394438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The number of faces, vertices and edges of a polyhydron A are x, 10 and 15, respectively and the number of faces,

vertices and edges of polyhydron B are 12, ¥ and 30, respectively. What is the value of (x +y) ?
Options :
1. 24

Question Number : 46 Question Id : 953357394438 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

@FWATBWBWW AT 61 HRGATE AT X, 10 9 15 %) SRR B 3 e, T o T 1
T AT 12, y 430 F (xy) FATARE

Options:
1. 24

Question Number : 47 Question Id : 953357394439 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

AABCH £ B3R £ C % §afzwTe, D W free 2 3fs £ BDC=1020%, 71 £ A=
Options:

7. 24°

Question Number : 47 Question Id : 953357394439 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
In A ABC, the bisectors of £B and £C meet at a point D. If ZBDC is 102°, then £A=

Options:
1. 24°

2 At
3. h1*

4, 78°

Question Number : 48 Question Id : 953357394440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
BD is a diagonal of a rhombus ABCD. If ZADB =50°, then the measure of £DCB is



Options :
1. 60°

2. 75°
3. 80°

4. 100°

Question Number : 48 Question Id : 953357394440 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
forsft F=Es ABCD & BD U fasht 21 afe

£ ADB=50% d £ DCB #I 9T 2-
Options :
1. 60°

3. 80©

4. 1000

Question Number : 49 Question Id : 953357394441 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two dice are thrown simultaneously. What is the probability that the sum of the numbers appearing on them s at least
7

Options :



=R

N
b~

L | =

IN
v

Question Number : 49 Question Id : 953357394441 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
31 T 31 T Y R AT 2| SR IR 4 & 1 I G O 7 S o A A W T A

Options:

4

Question Number : 50 Question Id : 953357394442 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Let X be the median of the data below:
13,14,15,11,9,9,8,7, 16, 15,
5, 6,16, 25,16, 23, 28,17

If 6is replaced by 19 and 13 by 31 in the above data, then the median of the resulting data is y . What s the value of
(3x - y)?

Options :

1. 26

4. 29

Question Number : 50 Question Id : 953357394442 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T ST o o et e « £
13,14,15,11,9.9.8,7.16,15,5,6,16,25,16,23 28,17
T A T 6 1077 13 31 T T o T 90, 71 50 A R A A T y 2 (Buey)
AR
Options :
1. 26

2. 2



Question Number : 51 Question Id : 953357394443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In order to incorporate Jean Piaget's framework in teaching of mathematics, a teacher must
Options :

1. initiate group discussions in the class.
2 focus only on age-specific problem-solving task.
3 schedule visits to the Community.

4. 8ive enough manipulatives to work with in order to teach a concept.

Question Number : 51 Question Id : 953357394443 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TTTOTe o Tersqor & S fUeTst 3 2= o o R o o fereres i afefer e =t

Options :

e
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Question Number : 52 Question Id : 953357394444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic of mathematic lesson planning?
Options :

1. It makes teaching systematic and well organised.
5 It helps students to develop the habit of undertaking immediate corrective measures.
3 It helps teacher in developing insights about learning needs and abilities of children.

4. thelps teachers to learn to foresee and tackle learning difficulties of children,

Question Number : 52 Question Id : 953357394444 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TrafeAfEd o o -1 0T U3 TS 3T TS9aT J81 22

Options:

1 ﬁﬁ%ﬁﬂ?aﬁﬁmaﬁrﬂmuﬁmmmm 2

, TE T F A A 30T T F 3TeS e T T Uee AT 2

;T o7 it e o1 g 1 ST AT AT o o SHTE faeh e e o 7 el
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Question Number : 53 Question Id : 953357394445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which among the following is/are the features of an effective mathematics teacher?

a. Should be competent and confident in the subject matter

b. Should be able to provide procedural knowledge to the students so that they can solve the problems
c. Should be able to create a stimulating classroom environment conducive to learning

d. Continues to investigate new mathematical knowledge and effective teaching strategies

Options :
1. aandd

2 &, bandc

3. b,candd

4. 8 C and d

Question Number : 53 Question Id : 953357394445 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Frferigs O o FE-97/9 0T 3 STEI19F & TS S0 2/E]

a-fore =7 & e 3 STentaraTe 2

b-BTT I FEETEE 79 24 5 707 2, 7999 & 3 vt =1 s W o)
-1 | TE1U STATERUT ol TATIUA Ll € S 16 SATETH o feTw, 17 <
-0 TOTETS T ST THTRT STEaa IS 1 oA STEeT T 2]

Options :

1. ﬁeﬂﬁ'{d

aﬁbaﬁ'{c

2.

5 b.c3Rd

4 a*caﬁl'd



Question Number : 54 Question Id : 953357394446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following practice is NOT suitable for teaching Mathematics at upper primary level?
Options:

1. Using mathematical laboratories
o Using Mathematical games and puzzles
3. Using open ended guestion

a. Using only formal algorithms

Question Number : 54 Question Id : 953357394446 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Freferfiga = & -t farfer g=er merfer = e mifvre feverer o6 o <wres et 29
Options :

1. TITOTH SEITSITEATST! 3T 39T

2. ”ra c tq@ﬁaﬂ?ﬂ%ﬁwﬁﬁﬁwﬁiu
, T (Forpa) vt =6t ST

4. AT T are =1 U=

Question Number : 55 Question Id : 953357394447 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After the class on 'Ratio and Proportion', Mr Alok, a middle school mathematics teacher thought of conducting a
diagnostic test to assess the students ability to identify situations of non-proportional thinking. Which of the following
questions are most relevant to be included in this test?

Options :

Sita and Soha are planting corns in the same farm. Sita plants 4 rows and Soha plants 6 rows. If Sita's corn is ready in 8
1. weeks, how many weeks it will take for Soha's corn to be ready?

Aschool orders 3 cartons of milk for every 8 students. If there are 624 students in the school, how many cartons of
2. milk should be ordered?

3 Ina school the ratio of students to teachers is 16:1. If there are 1248 students in a school, find the number of teachers

T = 2 Eind#.
&

4, 15

Question Number : 55 Question Id : 953357394447 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR A AU 51 e 5 815 A Trerd o 107 3 A0 41T AT 3 il o O 1
SR I 31 TR 81 eI 37 4 ?ﬂwiﬁﬁ%%%@ﬂﬁﬁmqﬁ%wﬁmmmﬁm
0 YT 61 WHTHAT ¥ THTeRe 21 3 oA, 17 5 31980 47 $Feee STes 2
Options :
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T oTer T § 7 5 o, 2413 3 e o ot v 21 e e o 624 971 2, 1 3 ot fean
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Question Number : 56 Question Id : 953357394448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher uses the open-ended problems during teaching- learning process of mathematics. This practice helps to
promote

a. creative thinking

b. divergent thinking

. equity in classroom

d. convergent thinking

Which one of the following is correct?

Options :
1. Only c

2. a&b
3. a,b&c

4 b&d

Question Number : 56 Question Id : 953357394448 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁﬂ%ﬁﬁmﬁﬁwﬁmm%ﬁwmﬁ(ﬁqm) T 1 T A 2| T T

1 T &1 H A A 2
A T e
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Options :

1. :EHC
3 ald b
3 a,btWdc

b7

Question Number : 57 Question Id : 953357394449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following statements is/are correct.

a. Every mathematical concept gives rise to more mathematical concepts.
b. Mathematical ideas grows from abstract to concrete.

C. Mathematical ideas grows from particular to general.

Options :
1. aandb
2. aandc

3. bandc

4. Only a

Question Number : 57 Question Id : 953357394449 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



frfetEs & & FE-91/9 F99 3FEF 22

2T TTOTAT ST ST STET9 T 19 STOMmeT! 31 3ea+ et 2
b-orefter famm @7ea & 7 3t TR forshferd 21t &

c-TIOTET =T faers & STy # o7 Tt e 2

Options:
aTd b

1.

3. b¥ee

+a (a)

Question Number : 58 Question Id : 953357394450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a given data, which one of the measures of central tendencies would be affected by one or two extremely large or
extremely small values outside the range of the rest of the data?

Options :
1. Median
2. Mean

3. Mode

A Frequency

Question Number : 58 Question Id : 953357394450 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

T T ATt 3 S T T 9 B9 SR T 1 7 U 1 € AT 6 1 e B A
T % AR 3 T ¥ AT 27

Options:

1 TR

2. HI=H

3. %

4. FTETAT

Question Number : 59 Question Id : 953357394451 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
An middle school Mathematics teacher uses following strategies in her geometry classes.

(i) Using a set of wedges of about 15° to measure variety of angles.

(i) Overlapping cut outs of various angles to find out angles with equal measures.
(i) Measuring a straight line segment using pencils of different lengths.

The pedagogy used by the teacher focuses on

Options:
1. Teaching angle sum property of polygons.
o Non- Numerical Comparison of angle sizes

3 Introducing the concept of line and line segments

4. Using measurement activities with non-standard units to introduce standard units of measurement later

Question Number : 59 Question Id : 953357394451 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e Toreen faraTerg it Tivra sht Tt = 1 et e 5 e <ot s s
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Question Number : 60 Question Id : 953357394452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Activities are an important tool for learning in elementary school mathematics classrooms because:

(a) engaging in Activities encourages strategic mathematical thinking and development of computational fluency
(b) activities serve as motivation for students to practice and tool for teachers to assess the students.

(c) activities help teachers to complete the syllabus in time.

(d) lot of free periods in time - tahle can be utilised through Activities.

Choose the correct option

Options :
1. (a)&(c)

, (a)&(b)



3. (b),(c)and(d)

g4, (b)&(d)

Question Number : 60 Question Id : 953357394452 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

m‘tﬁqﬁ%ﬁwﬁgﬁﬂﬁﬁﬂﬁaﬁm%%ﬂ&mwmﬁﬂ%muﬁﬂﬁﬂ%@ﬁ.
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Options:
1. @ g ¢

7 aTd b

3. b,ctad

b7

Question Number : 61 Question Id : 953357394453 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How many images will be formed if you stand between two plane mirrors positioned parallel to each other in a trail
room of a garment shop?

Options :

1. Two



2. One
3, Four

4. Infinite

Question Number : 61 Question Id : 953357394453 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
orl TR % 9797 T 9 975 SATY &1 e et ST 26 &) 9 @ 27, 1 A1 Tehe TTeiad

Options :

Question Number : 62 Question Id : 953357394454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A piece of Copper is put in a test tube containing Hydrochloric acid. Which of the following statements will be true?
Options :

1. No reaction takes place

2. Reaction is slow



3. "Pop Up" sound is heard

4. Colour of solution changes

Question Number : 62 Question Id : 953357394454 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR e, T AT gTaevs: ofec 2, 3 7 1 U 2ot ST ST 21 60 (0 14 3 & 908.91 0 e
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Options :
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Question Number : 63 Question Id : 953357394455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It is observed that a Copper vessel gets corroded in rainy season to give
Options :
1. reddish brown coating of Copper oxide and Copper hydroxide

2. greenish coating of Copper hydroxide and Copper Carbonate

3. white coating of Copper Carbonate and Copper Oxide



4. Breen coating of Copper Sulphide and Copper Carbonate

Question Number : 63 Question Id : 953357394455 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 953357394456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 953357394456 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following household substances will turn red litmus blue?
(a) Baking Soda

(b) Vinegar

(c) Lemon Juice

(d) Bleach

Options:
1. ab

Question Number : 65 Question Id : 953357394457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the pair of materials that burns with a flame
Options :

1. Camphor, Magnesium

2. Camphor, Coal



3 Coa |, Kerosene

4. Kerosene, Charcoal

Question Number : 65 Question Id : 953357394457 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357394458 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are always true about the process of cloning?
A. It is possible only in animals.

B. It results in exact replication of a cell, a living part or an organism.

C. It results in a large number of off-springs”

Options:
1. A&B

2. Only B



3. B&C

4. Only A

Question Number : 66 Question Id : 953357394458 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FRATT ¥ Tad ¥ FeAreed § & SH-91/8 9 w9 wer 8/ 2

A. TFEEEA T EE Y

B. = foreh wferem, foreht e s am Toret i T WTeR TR ToTY 0T 21T 2
C. W%Hwﬁ%ﬁﬁdw%ﬁ?ﬁ%

Options:

1 ARB
, FHITB
3 B¥RC

4 FETA

Question Number : 67 Question Id : 953357394459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following carefully and choose correct option

Assertion (A) - A plastic hottle, half filled with boiling water and tightly capped, thereafter gets crushed when allowed
to rest for some time.

Reason (R) - Air pressure decreases with decrease in temperature in the bottle.



Options :

1. Both A &R are correct and R is correct explanation for A
2. Both A & R are correct but R is not correct explanation for A

3. Als correct but R is not correct

4. Both A and R are not Correct

Question Number : 67 Question Id : 953357394459 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 953357394460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement:



Options :

1. Magnets lose their properties on heating.
- Bar magnets should be kept in pairs with their unlike poles on the same side.
3 Similar poles of magnets repel each other.

4. Nickel and Cobalt do not get attracted by magnet.

Question Number : 68 Question Id : 953357394460 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357394461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An object is placed in front of a convex lens in such a way that its real and magnified image is formed on the other side.
If the top half of the convex lens s covered with a black/opaque paper then -

Options :



1. the image magnification will be reduced.
2. the top half of the image will vanish.
3. the bottom half of the image will vanish.

4. the sharpness of the image will be reduced.

Question Number : 69 Question Id : 953357394461 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357394462 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A car that can travel at a maximum speed of 120 km/hr takes 7 hours 45 minutes to cover a distance of 372 Km. What
is the difference between the maximum and the average speed of this car?

Options :



1. 40 km/hr
o 48 km/hr
3. 72 km/hr

4. 120 km/hr

Question Number : 70 Question Id : 953357394462 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357394463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is incorrect in the context of earthquakes?
Options :

1. Most earthquakes are caused by sudden slipping of tectonic plates and by volcanic eruptions.



5 An earthquake of the magnitude of 3.0 on Richter scale can trigger a tsunami.
3 A major earthquake is generally followed by tremors in the same area.

4. Study of earthguakes is known as Seismology.

Question Number : 71 Question Id : 953357394463 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 953357394464 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Three objects A, B and C having different densities but same size are put in a liquid. Consider the following situations
and arrange these in ascending order of buoyant force acting on each of the objects.
(i) Ais completely submerged in liquid.

(ii) B floats with (1 }th of its volume inside the liquid.
4

(iif) C floats with (E )th of its volume inside the liquid.
2

Options :
1. B<C<A

2. B=C>=A
3. A<C<B

4 A=B=C

Question Number : 72 Question Id : 953357394464 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1. B<C<A

2 B=C>A

3. A<C<B



4. A=B=C

Question Number : 73 Question Id : 953357394465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The major reason for using Bakelite for handles of pressure cooker is that
Options:

1. itis bad conductor of heat.

2. it is bad conductor of electricity.

3. itis unbreakable.

4. it is light in weight.

Question Number : 73 Question Id : 953357394465 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357394466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The vitamins which also act as anti-oxidants are
Options :
1. AB and D

5 AC and E

3 DB and C

4 D E and K

Question Number : 74 Question Id : 953357394466 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 953357394467 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The following table depicts the presence or absence of certain cell organelles in three cells A, B, C. What could A, B, C
he?

Part of a cell A B :
Cytoplasm v v V
Nucleus y V I
Cell wall y X Y
il " J
p v’ ¥ X
Options:

1. A- Plant Cell; B - Animal Cell; C - Plant Cell
5 A- Animal Cell; B - Plant Cell; C - Animal Cell
3 A- Plant Cell; B - Animal Cell; C - Animal Cell

4 A- Plant Cell; B - Plant Cell; C - Animal Cell

Question Number : 75 Question Id : 953357394467 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357394468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Consider the following statements and choose the correct option.
A) Measles is caused by Bacteria

B) Malaria is caused by Plasmodium

C) Typhoid is caused by Bacteria

D) Leprosy is caused by Virus"

Options :
1. AC

> BC

3 B,CD

4 ACD

Question Number : 76 Question Id : 953357394468 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357394469 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
51- Hen exhibits external fertilization
S2- Hen is an oviparous animal

Options :
1. Both 51 & 52 are true
2. S1is true but 52 is false

3. S2istrue but 51 is false

4. Both 51 & 52 are false

Question Number : 77 Question Id : 953357394469 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357394470 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
Assertion (A) - A bird like owl can see very well in night but not during day.
Reason (R) - Night birds have a few cones and a large number of rods in the retina.

Options:
1. Both A & R are true and R is correct explanation of A
2. Both A & R are true but R is not correct explanation of A

3. Als true but R is false

4. Both A and R are false



Question Number : 78 Question Id : 953357394470 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357394471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Increasing the consumption of which of the following would help you increase the level of carbohydrate in your body?
Options:
1. Maize

2. Pea

3. Soyabean

4. Groundnut



Question Number : 79 Question Id : 953357394471 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357394472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
Assertion (A) - The speed of sound is more on a hot summer day than on a cold winter day
Reason (R) - The density of hot air is less than the density of cold air

Options:
1. Both A and R are true and R is correct explanation for A
2. Both A and R are true but R is not the correct explanation for A

3. Alistrue and Ris not true

4. Ais not true and R is true

Question Number : 80 Question Id : 953357394472 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357394473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true about ‘observing’ in science?
Options :

1. Itinvolves seeing, tasting, touching, listening and smelling
L focuses on telling "what it is"

3 It gives unbiased truths about natural phenomena

a4 It helps in gathering first hand data about a phenomenon

Question Number : 81 Question Id : 953357394473 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357394474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the NCF-2005 Position Paper on Teaching of Science, which of the following is an important and
transferable skill that helps the children in 'learning to learn' science?

Options:
1. Ability to learn scientific facts
5 Ability to recall the formulae to solve problems

3. Ability to understand the process of scientific inquiry

4 Ability to recall the contributions of great scientists

Question Number : 82 Question Id : 953357394474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357394475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What do we mean when we say that scientific knowledge is tentative?
Options :

1. That the current scientific theories are undependable or flimsy
2. That scientific knowledge is not reliable and durable
3. That existing scientific knowledge is subjected to revision in the light of new evidence

4. That scientific knowledge is generally fixed and eternal

Question Number : 83 Question Id : 953357394475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357394476 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching the topic ‘Electricity' in class VIII, the teacher commented, “Thomas Edison experimented thousands of
times before he successfully found a material suitable to be used as 2 filament of a light bulb”.
Which of the following aspects is the teacher highlighting above?

Options :

1. Subjectivity in Science

2. Tentativeness of Science

3. Empirical nature of Science

4. Cultural embeddedness of Science

Question Number : 84 Question Id : 953357394476 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357394477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher can inculcate the essence of the scienfific enterprise among students by all of the following practices,
EXCEPT:

Options :

1. Students should be made conversant with multiple methods of science.
o Nature of science to be made an integral part of teaching-learning.
3 Students must be required to memorize facts and reproduce when needed.

4. Historical aspects of the development of scientific concepts should be emphasized.

Question Number : 85 Question Id : 953357394477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357394478 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following is the most important consideration for organising remedial teaching?
Options :

1. Paying attention to individual rate of progress

2. Inclusion of several group activities

3. Completion of entire syllabus

4. Paying attention to the examination pattern

Question Number : 86 Question Id : 953357394478 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



ST foTa St et 3 e § & T e Feraqul o= o 27

Options :

1 T T SR {aﬂf::hm] 2T UT ST &
, % Wl Mt = S

; HYUT UTSAFH T FEIIA

4, RT3 U3 OF T &

Question Number : 87 Question Id : 953357394479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Reena found that during a class test, most of the students had responded incorrectly to a concept-hased question.
Which of the following strategies can help in addressing this issue?

Options :
1. Motivate students to read, understand and learn well
o Arrange a PTM and ask parents to encourage students to prepare well for next exams

3. Teach the concept again

4. Search for conceptual gaps and teach the concept accordingly

Question Number : 87 Question Id : 953357394479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357394480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option.
Assertion (A) - Demonstration of discrepant events helps in addressing misconceptions.
Reasoning (R) - Discrepant events create cognitive conflict for conceptual change

Options :

1. Both A and R are correct and R gives explanation for A

2. Alis correct but R is not correct

3. Both A & R are correct but R is not explanation for A

4. Both A & R are incorrect

Question Number : 88 Question Id : 953357394480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357394481 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher and her group of students, while carrying out an activity on seed germination, planted seeds in different
conditions and found that dry seeds did not grow. The teacher posed the following questions to students:

. Why do you think these seeds are not growing?

. What can be done to make them grow?
Which of the following skills is the teacher trying to develop among the students through these questions?

Options :
1. Observing
2. Hypothesising

3 Predicting

4 Question - raising



Question Number : 89 Question Id : 953357394481 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Ty g = T St o 4550 O e e S g e 4T 376 T 1 T S
# Fr e g 71 1 e v 5 e e 4 T -
() AR ST E A RO
() S 31 0 5 o o e 1 e 2
4 7 T T 5 4 5 8 T T 1T 1 T 6 o8 T A 2
Options :

1 IO AT

5 UNEReAT FAT

A
Y141 1A
3. &N

4, A HAT

Question Number : 90 Question Id : 953357394482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct regarding assessment in science?
A- Continuous assessment dilutes teaching - learning

B- It is impractical to record each task of each student

C- Qualitative criteria help in meaningful assessment

D- Every concept need not be tested

Options :
1. AB

2. GD



4, AD

Question Number : 90 Question Id : 953357394482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:

1. A B
2. C.D
3. B,C
4. A, D
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Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 95335722965
Question Shuffling Allowed : Yes

Question Id : 953357394483 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

There are no secrets in science. One can do and know all that a scientist does and knows.
One does not need to have any faith in him as an individual and accept what he says without
guestioning it. The only thing a scientist asks of one is to base ones characterizes a child on
whom society has not yet imposed its beliefs and prejudices, In fact, science is nothing more
than gquestions asked and guestions answered, and the method of science, no more than a
method od asking questions and answering them, a method that “works"” and can be used
to solve problems that one faces in everyday life.

Science is indeed, far more than just physics, chemistry, biology, astronomy and
mathematics. It is a question of ideas and a way of thinking. It is a culture and a philosophy
of life, a philosophy which allows us to purpose truth without any prejudgement. What,
then, is this attitude of mind, this culture and this philosophy of life? It turns out that all
these —and other — concomitants and attributes of science emanate primarily from the
method that science uses to acquire knowledge. Certain characteristics of this method,
which we call “The method of science”, and of knowledge gained by the application of this
method, create a value system within their framework, a value system which is rational and
reasonable , which appeals to common sense, which is commensurate with knowledge and,
abowve all which has a build-in corrective. It, therefore, becomes especially important to
understand the basis of the method of science, and at the value system of science, so that
we may understand the culture. One does not need to have any faith in him as an individual
and accept what he says without guestioning it

Sub questions

Question Number : 91 Question Id : 953357394484 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Read the following sentences —
(A) An individual should not have any faith in a scientist.
(B) A scientist desires questioning based on simple reasoning.

A is false B is true
A is true B is false
Both A and B are true
4. Both A and B are false

A

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357394485 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What type of reason is NOT highly required in a scientific enquiry?
1. Untempered
2. Uninhibited
3. One free from any previous belief
4. That of a highly educated and prejudiced mind

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357394486 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements
(A) Scientific method means asking questions and speaking their
answers
(B) Everyday problems of life may not be solved by the scientific
method

(1) (A) is right and (B) is wrong
(2) (B} is right and (A) is wrong
(3) Both (A) and (B) are right

(4) Both (A) and (B) are wrong

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357394487 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Science , according to the author is more than
1. a philosophy of life
2. disciplines of knowledge
3. questions of ideas
4. away of thinking

Options:
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357394488 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not a true statement?
(1) Rationality is an important basis of scientific method
(2) Value system is based on reasoning and appeals to one’s common
sense
(3) The attitude of mind cannot be understood by methods of science
(4) Understanding philosophy of life is essence of science

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357394489 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is attributed to the underlined words in the
following sentence?

“What then is this attitude of mind , this culture and this philosophy of
life”

1. Adverb

2. Adjective

3. Pronoun

4. Article

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357394490 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the word which means the same as “untempered” as used in the
given passage

1. lll- tempered

2. Unwanted

3. Logical

4. lrrational

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357394491 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Most appropriate antonym of the word “prejudiced” is —
1. deferential
2. indifferent
3. detrimental
4. preconceived

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357394492 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the given sentence shows an error ?
“The methods of science are no more than a method
(A) (B)

of asking questions and answering”

(C) (D)

o I
00 m e

Options :
1.1
2.2
3.3
4.4

Question Id : 953357394483 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

There are no secrets in science. One can do and know all that a scientist does and knows.
One does not need to have any faith in him as an individual and accept what he says without
guestioning it. The only thing a scientist asks of one is to base ones characterizes a child on
whom society has not yet imposed its beliefs and prejudices, In fact, science is nothing more
than questions asked and questions answered, and the method of science, no more than a
method od asking questions and answering them, a method that “works" and can be used
o solve problems that one faces in everyday life.

Science is indeed, far more than just physics, chemistry, biology, astronomy and
mathematics. It is a question of ideas and a way of thinking. It is a culture and a philosophy
of life, a philosophy which allows us to purpose truth without any prejudgzement. What,
then, is this attitude of mind, this culture and this philosophy of life? It turns out that all
these —and other — concomitants and attributes of science emanate primarily from the
method that science uses to acquire knowledge. Certain characteristics of this method,
which we call "The method of science”, and of knowledge gained by the application of this
method, create a value system within their framework, a value system which is rational and
reasonable , which appeals to common sense, which is commensurate with knowledge and,
abowe all which has a build-in corractive. It, therefore, becomes especially important to
understand the basis of the method of science, and at the value system of science, so that
we may understand the culture. One does not need to have any faith in him as an individual
and accept what he says without questioning it

Sub questions

Question Number : 91 Question Id : 953357394484 Question Type : MCQ Option Shuffling

:No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following sentences —
(A) An individual should not have any faith in a scientist.
(B) A scientist desires questioning based on simple reasoning.

A is false B is true
Ais true B is false
Both A and B are true
4. Both A and B are false

A

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357394485 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What type of reason is NOT highly required in a scientific enquiry?
1. Untempered
2. Uninhibited
3. One free from any previous belief
4. That of a highly educated and prejudiced mind

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357394486 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements
(A) Scientific method means asking questions and speaking their
answers
(B) Everyday problems of life may not be solved by the scientific
method

(1) (A) is right and (B) is wrong
(2) (B} is right and (A) is wrong
(3) Both (A) and (B) are right

(4) Both (A) and (B) are wrong

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357394487 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Science , according to the author is more than
1. a philosophy of life
2. disciplines of knowledge
3. questions of ideas
4. away of thinking

Options:
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357394488 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is not a true statement?
(1) Rationality is an important basis of scientific method
(2) Value system is based on reasoning and appeals to one’s common
sense
(3) The attitude of mind cannot be understood by methods of science
(4) Understanding philosophy of life is essence of science

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357394489 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of speech is attributed to the underlined words in the
following sentence?

“What then is this attitude of mind , this culture and this philosophy of
life”

1. Adverb

2. Adjective

3. Pronoun

4. Article

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357394490 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the word which means the same as “untempered” as used in the
given passage

1. lll- tempered

2. Unwanted

3. Logical

4. lrrational

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357394491 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Most appropriate antonym of the word “prejudiced” is —
1. deferential
2. indifferent
3. detrimental
4. preconceived

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357394492 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which part of the given sentence shows an error ?
“The methods of science are no more than a method
(A) (B)

of asking questions and answering”

(C) (D)

o I
00 m e

Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 95335722966

Question Shuffling Allowed : Yes

Question Id : 953357394493 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the stanza given below and answer the questions/complete the
statements that follow with the help of given options.

My mistress bent that brow of hers;

Those deep dark eyes where pride demurs
When pity would be softening though,
Fixed me a breathing while or twos

With life or death in the balance right |
The blood replenished me again;

My last thought was at least not vain :

| and my mistress, side by side

Shall be together , breathe and ride,

So, one day more am | deified,

Who knows next but the world may end to-night?

Sub questions



Question Number : 100 Question Id : 953357394494 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements :
(a) The lover’s fate hangs in balance
(b) The beloved is easily persuaded
(c) Her pride stands in the way of her lover’s success
(d) There is a conflict between pride and pity

1. (a) and (b) are both correct
2. (b)and (c) are both correct
3. (c) and (d) are both correct
4. (a) and (b) are both wrong

Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 953357394495 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1. The poetis a dejected lover

2. He loses heart very soon

3. He knows that ultimately he will win her love
4. His request is a matter of life and death for him

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357394496 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What was the poet’s last thought?
1. his request for a ride together
2. that his beloved would accept his love
3. that she would raise her beautiful brow
4. that his breathing would start again

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357394497 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘am | deified’ the figure of speech used in the expressions is

Simile
Metaphor
Personification
Imagery

= Ll B P

Options:
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357394498 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘with life and death in the balance’ the figure of speech |
the expression is

Simile
Metaphor
Hyperbole

4. Personification

ol e B

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357394499 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements :

(a) At the end the lover feels that he is in Heaven.
(b) At least his one request has been granted.

1. (a)isright and (b) is wrong
2. (b)isright and (a) is wrong
3. Both (a) and (b) are right
4. Both (a) and (b) are wrong

Options :

1.1

2.2

3.3

4.4

Question Id : 953357394493 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension



Read the stanza given below and answer the questions/complete the
statements that follow with the help of given options.

My mistress bent that brow of hers;

Those deep dark eyes where pride demurs
When pity would be softening though,
Fixed me a breathing while or twos

With life or death in the balance right |
The blood replenished me again;

My last thought was at least not vain :

| and my mistress, side by side

Shall be together , breathe and ride,

So, one day more am | deified,

Who knows next but the world may end to-night?

Sub questions

Question Number : 100 Question Id : 953357394494 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements :
(a) The lover’s fate hangs in balance
(b) The beloved is easily persuaded
(c) Her pride stands in the way of her lover’s success
(d) There is a conflict between pride and pity

. (a) and (b) are both correct
(b) and (c) are both correct
(c) and (d) are both correct
(a) and (b) are both wrong

L e il

o

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357394495 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



1. The poetis a dejected lover
2. He loses heart very soon
3. He knows that ultimately he will win her love
4. His request is a matter of life and death for him
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357394496 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What was the poet’s last thought?
1. his request for a ride together
2. that his beloved would accept his love
3. that she would raise her beautiful brow
4. that his breathing would start again

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357394497 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘am | deified’ the figure of speech used in the expressions is

Simile
Metaphor
Personification
Imagery

= Ll B P

Options:

1.1



2.2
3.3
4.4

Question Number : 104 Question Id : 953357394498 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘with life and death in the balance’ the figure of speech |
the expression is

Simile
Metaphor
Hyperbole

4. Personification

ol v

Options:
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357394499 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements :

(a) At the end the lover feels that he is in Heaven.
(b) At least his one reguest has been granted.

. (a)isright and (b) is wrong
. (b) is right and (a) is wrong
Both (a) and (b) are right

4. Both (a) and (b) are wrong

SV N

Options :
1.1
2.2
3.3



4.4

Sub-Section Number : 3
Sub-Section Id : 95335722967
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357394500 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language is
1. system of structures
2. communication system
3 a rule governed system
4, a scientific system

Options :

1.1

2.2

3.3

4.4

Question Number : 106 Question Id : 953357394500 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Language is

1. system of structures
2. communication system
3 a rule governed system
4, a scientific system
Options:
1.1
2.2

3.3



4.4

Question Number : 107 Question Id : 953357394501 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher does actions which learmers follow as directed and learners are not expected speak or produce language. What is this method
known as?

1. Imitation method
2. Total Physical Response
3. Dramatics
4, Communicative approach
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357394501 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher does actions which learners follow as directed and learners are not expected speak or produce language. What is this method
known as?

1. Imitation method
2. Total Physical Response
3. Dramatics
4, Communicative approach
Options :
1.1
2.2
3.3
4.4



Question Number : 108 Question Id : 953357394502 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How many languages are listed in 8'" Schedule of the Indian Constitution?
1 22 languages
2. 18 languages
3. 26 languages

4 1,179 languages
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357394502 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

How many languages are listed in 8'" Schedule of the Indian Constitution?
1. 22 languages
2 18 languages
3. 26 languages

4, 1,179 languages
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357394503 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A classroom make the learners notice language through various means viz. on the wall, class library, audio and video. What should this be
described?

Language acquisition
Language comprehension

Input rich environment

Language practice through senses
Options :

1.1

2.2

3.3

4.4

Question Number : 109 Question Id : 953357394503 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A classroom make the learners notice language through various means viz. on the wall, class library, audio and video. What should this be
described?

Language acquisition
Language comprehension

Input rich environment

Language practice through senses
Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 953357394504 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Skimming a text means
1. reading for specific details
2. reading aloud the text

3. reading for information

e

reading for general meaning
Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 953357394504 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Skimming a text means
1. reading for specific details
2. reading aloud the text

3. reading for information

e

reading for general meaning
Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 953357394505 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Use of vocabulary, pronunciation and grammar’ are

=

informal language inputs.

2. form oriented language inputs

3. meaning oriented language inputs
4

linguistics oriented language inputs
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357394505 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Use of vocabulary, pronunciation and grammar’ are

=

informal language inputs.

2. form oriented language inputs

3. meaning oriented language inputs
4

linguistics oriented language inputs
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357394506 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is productive vocabulary?
1. Words that we use in writing and speaking.

2. Words which we recognize when someone speaks.
3. Words which we notice while reading.
4.  Words which we do not understand.

Options :



1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357394506 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is productive vocabulary?
1. Words that we use in writing and speaking.

2. Words which we recognize when someaone speaks.
3. Words which we notice while reading.

4.  Words which we do not understand.

Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 953357394507 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Procedural knowledge helps learners

1. learn the knowledge about language

2. learn the form first and use it later.

3. apply the rules of grammar in communication
4

master the rules of grammar of a language.
Options :
1.1
2.2
3.3
4.4



Question Number : 113 Question Id : 953357394507 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Procedural knowledge helps learners

1. learn the knowledge about language

2. learn the form first and use it later.

3. apply the rules of grammar in communication
4

master the rules of grammar of a language.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357394508 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to writing could be stated as learning to write by writing?
1. Product approach

2. Process approach to writing
3. Dictation
4. Summarising

Options:

1.1

2.2

3.3

4.4

Question Number : 114 Question Id : 953357394508 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which approach to writing could be stated as learning to write by writing?
1. Product approach

2. Process approach to writing
3. Dictation
4, Summarising

Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 953357394509 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an extrapolative writing task?

1. Imagine you are the boy in the story write a letter to your friend describing your experience of the journey in which you met a
stranger.

2. Fill out the railway ticket reservation form to go to Nagpur.

3. Read the poem as many times as possible and write the summary of the poem.

4. Write the autobiography of a tree.
Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 953357394509 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an extrapolative writing task?

1. Imagine you are the boy in the story write a letter to your friend describing your experience of the journey in which you met a
stranger.

2. Fill out the railway ticket reservation form to go to Nagpur.

3. Read the poem as many times as possible and write the summary of the poem.

4. Write the autobiography of a tree.



Options :
1.1
2.2
3.3

4.4

Question Number : 116 Question Id : 953357394510 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Embedding the pedagogy into the materials’ is

1. content validity of the materials

2. reliability of the materials

3. pedagogical understanding of the teacher

o+

pedagogical realization of materials
Options :

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 953357394510 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Embedding the pedagogy into the materials’ is

1. content validity of the materials

2. reliability of the materials

3. pedagogical understanding of the teacher

o

pedagogical realization of materials
Options :
1.1

2.2



3.3

4.4

Question Number : 117 Question Id : 953357394511 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher organizes the following activity every day.

Divides the class into groups of five and gives some day-to-day functions / themes for conversation in the groups and later she picks up
one from each group and asks the group to converse as a whole class activity. What is she attempting to promote?

1. Basic Interpersonal Communicative Skills (BICS)
2. Cognitively Advanced Language Proficiency (CALP)
3. Discourse compeatency

4. Group Discussion
Options :
1.1
2.2
3.3

4.4

Question Number : 117 Question Id : 953357394511 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher organizes the following activity every day.

Divides the class into groups of five and gives some day-to-day functions / themes for conversation in the groups and later she picks up
one from each group and asks the group to converse as a whole class activity. What is she attempting to promote?

1. Basic Interpersonal Communicative Skills (BICS)
2. Cognitively Advanced Language Proficiency (CALP)
3. Discourse compeatency

4. Group Discussion
Options:
1.1
2.2
3.3
4.4



Question Number : 118 Question Id : 953357394512 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assessments designed to monitor and improve students’ progress during the teaching-learning process.

1. Assessment of learners
2. Assessment for learning
3. Assessment of learning
4, Assessment as learning

Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 953357394512 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Assessments designed to monitor and improve students’ progress during the teaching-learning process.

1. Assessment of learners
2. Assessment for learning
3. Assessment of learning
4. Assessment as learning

Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 953357394513 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Mational Education Policy 2020 recommends the study of classical languages as
1. alanguage within the three language formula
2. asacompulsory language
3. an additional option
4.  asasecond language

Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 953357394513 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mational Education Policy 2020 recommends the study of classical languages as
1. alanguage within the three language formula
2. asacompulsory language
3. an additional option
4

as a second language
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357394514 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher organizes her class into the pair and gives a story of 18 sentences, One of the pairs has odd sentences (sentences 1,3,5,....
printed and other sentences blank while the other has even sentences (sentences 2,4,6,.....) and odd sentences blanks. Students in pairs
have to read out the sentences mutually to each other and write to complete the story. This involves listening, speaking, reading and
writing, What s this task known as?

1. Mutual dictation

2. Group dictation

3. Sentence dictation

4, Paragraph dictation



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357394514 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher organizes her class into the pair and gives a story of 18 sentences. One of the pairs has odd sentences (sentences 1,3,5,....
printed and other sentences blank while the other has even sentences (sentences 2,4,6,.....) and odd sentences blanks. Students in pairs
have to read out the sentences mutually to each other and write to complete the story. This involves listening, speaking, reading and
writing, What is this task known as?

1. Mutual dictation

2. Group dictation

3. Sentence dictation

4, Paragraph dictation
Options :
1.1
2.2
3.3
4.4

Language II

Section Id : 95335712794
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Number of Questions : 17
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Question Id : 953357394515 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 953357394516 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ATeAal %’Hmﬂlﬂ"iﬂ :Er ':In'{-d*ﬂ":[f.“'i‘ﬂ Wﬁ'ﬁl‘fﬂTmﬂT qT-
|. STeTEeT |

. T IR A

3. fasriieeg =

4. g faegeri =

Options :

[

1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357394517 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TrereT faataamers g =Etsen T fTraer oo &= off
1. aitg Tagert o fom

T Torenfefart = fom

3. Tig, TRt o7 T=eht = form
4. STIRT 3 T

Options :

[

1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357394518 Question Type : MCQ Option Shuffling :



No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ ~ Y
ATeA-al ERIECIEE PREH THeAAT-SeA] aq1?

|. et fSgfaaea o

2. JTFawE afaEem v
3. FHETAT AT o
4. Taeratsen agfaa=g o

Options:
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357394519 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

=T FaTHT AT Fr m@ﬁWI
|. 9T THTA

4. YSTAT T YT

Options :

[

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357394520 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



b2
&
¢

LFS]
b

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357394521 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
g BT TETEL T Y T
B,

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357394522 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357394523 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR § T HAT T o7 €
. 3TEYE T BT

0. T ATGISTF BT

4. AT ST

Options :
1.1
2.2
3.3
4.4

Question Id : 953357394515 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 953357394516 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ATeeT faafaemea 5 JEARTeTd =T THETOT FHeaTaT 9T
|. ST 5

2. TTH e F

3. e ¥

4. St gt



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357394517 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ATeeeT faataamea 9 =ETse 391 foreer form &=t off
1. 3t gt & fom

3. Wig TSTeqeRT &7 T=eht = Tow
4. STTER! = Toqu

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357394518 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ - i -
S IGE ] ERIERIGR, ERERESEIESER] am?

|. et Tt o
 HATEEE faafTeT |
3. ST [T gt g |
4. fawateren faafaaem w

Options :

[

1.1
2.2



3.3
4.4

Question Number : 124 Question Id : 953357394519 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
==t F=TET e i TG g T
|. T SATT
4. \JSTAT T U= A
Options :

-3

1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357394520 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS & T B-
. T

2.fxm

3. SEAitE

4
o ]

4. T
Options :
1.1
2.2
3.3
4.4



Question Number : 126 Question Id : 953357394521 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

g BT TR T Y T
-

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357394522 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e 1 wtess w1 B
1. AT

2. TfaTaT=AT

3. famm

4. TG

Options:
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357394523 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



*m%ﬁW'WWW%

|, 3TE9T BT

| 37T SATYISHF BT
ATaST=IFgO B

4. FFUT ST

Options :

[-J

L

1.1
2.2
3.3

4.4
Sub-Section Number : 2

Sub-Section Id : 95335722969

Question Shuffling Allowed : Yes

Question Id : 953357394524 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions



Question Number : 129 Question Id : 953357394525 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS FE 3 0 AR © -

|. AT

2. 33 Hehed

3. 99

Options:

N

1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 953357394526 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST & T8 ST -

|. STIRET, 99T, T=a,

[ 4
2. ThEAl, T=aq, 9914,

3. T=ia, AT, ¥4,
4. AT, W, T,

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357394527 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS T T S T S 91 R a8
. =g 9= A

2. ¥

3.7

4. BT F T A

Options :

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 953357394528 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
qe-2fer o TuT B
. 9099
o
2. FHEART

3.82
4, TS

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357394529 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3

4.4

Question Number : 134 Question Id : 953357394530 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T sTeg O AT Te T T T TR 8-
. STEAT
2. "JIar

3. Tfan
4. qrAat
Options :
1.1
2.2
3.3

4.4

Question Number : 135 Question Id : 953357394531 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



AT S | T ST TRl -
|. =9 | faam=

2.t =

3, SATEAHLAT

4. HATHEHA =l o=

Options :
1.1
2.2
3.3
4.4

Question Id : 953357394524 Question Type : COMPREHENSION Sub Question Shuffling

Allowed : Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)
Question Label : Comprehension

faer- et o 7o erier 1 URE O T WA F Haw Sug S O
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Sub questions

Question Number : 129 Question Id : 953357394525 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

S IE L] 7T wgmqﬁ% S
| STeRTIET

3. 9T

4. I

Options :

I~

1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 953357394526 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
SATHTTHIAT | T 8T A 2-

| . SHTETET, §9T, =,

3. &9, 1=, v,

4. I, v, =,

Options:
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357394527 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS T T S T S 91 R a8
. =g 9= A

2. ¥

3.7

4. BT F T A

Options :

1.1

2.2

3.3

4.4

Question Number : 132 Question Id : 953357394528 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
qe-2fer o TuT B
. 9099
o
2. FHEART

3.82
4, TS

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357394529 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3

4.4

Question Number : 134 Question Id : 953357394530 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T sTeg O AT Te T T T TR 8-
. STEAT
2. "JIar

3. Tfan
4. qrAat
Options :
1.1
2.2
3.3

4.4

Question Number : 135 Question Id : 953357394531 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TS S o T ST TRl -
|. =9 | faam=

2. Tonffes 2

3. STTERTTHET

4. HATHAA ThI A

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335722970

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357394532 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 953357394532 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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2, AT, 1, T 61 T, e, T1cr, STRF, T ST 9 g o &t 7 e W7
3, e et e 3 o o e O R

. TS 51 T, PR TOT, STk A ST T e T

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357394533 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T S ST AT o T (o S T € 1 9 (e (6, e, 4 S0 ¥ & 74 o7
e e o i o e

AT T i 1 o 0 af )

1. ¥ A

). T e

3 R

4. Vi

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357394533 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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AT T g 1 o 9 e )

1, ST &

). YT AT

3. TR

4, ivere TR

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357394534 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T e ot o g W o e T 1 9 49 T 6 T e 9 | 7 o
T T 27

| TR

), T

3, U e

A, T o

Options:

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 953357394534 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 953357394535 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o SR o e TR, o ol o
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| ST oA
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Options :

1.1

2.2

3.3

4.4

Question Number : 139 Question Id : 953357394535 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357394536 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o, Bea, fasmw, GRnfamme . FEu g afiea o mmE
1. forweaeg % ves
2. T oTee

3. e sTee-HusT
4. AT ITee-HUaT
Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 953357394536 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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2. TFaT ITeE

3. TAfeerr sTee-guer

4. GierT TTee-HUT

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357394537 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TT=EATAT o S T, 9T 39 S0 2 1T S0 T F PR wAT-
| ST T 2

2. T T 2

3. ST SATATE FH5HT 2

4. 9T TR 2|

Options :

1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357394537 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TTEATST & 91 H ST, 797 39 TS o709 3107 Sia 0T § BRaTaa -
| ST T 2

2. ST JH 2

3. TR erigmc‘:lﬁﬂ'ﬂ'r%l

4. 79T TR B

Options :

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357394538 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

eI WTST & §e § UST AT A A B

| SFTEET U3 |TET

2. TifEfeas HE

3. TT3T T o =REw1 5 (o 4 U3

4. TR U3 |t

Options :

1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357394538 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TSI T § 65y 9 U7 Adi A 7
1. ST U3 |

2. T e

3. WW#WW EET LR EE RS it

4. TTHTIUTER U= |t

Options :

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357394539 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e O o &9 97 97T ATFaT & a1 9 985 27
1. fererferat & susfew|
2. TreaTieiat = SHTeRIOTeR 9 T SRt ST
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Options :

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357394539 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. TE UFT FAT 15 Tereqnieat i 78 A 2
Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 953357394540 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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| 3t Rreba e R <t 35 form i 3 e i e
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4. ST 5T W7 H TR W61 % TEAET w6 o

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357394540 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3
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Question Number : 145 Question Id : 953357394541 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

1.1
2.2
3.3
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Question Number : 145 Question Id : 953357394541 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
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Question Number : 146 Question Id : 953357394542 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
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Question Number : 146 Question Id : 953357394542 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357394543 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3
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Question Number : 147 Question Id : 953357394543 Question Type : MCQ Option Shuffling :
No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 148 Question Id : 953357394544 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e o e g, nd e v e e
| SRR S ¥ W i

). 74 TV 3 3 T, T v 7

3. SR T % T HaT 0 ¢

4, TSR S g

Options :

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357394544 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357394545 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357394545 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357394546 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 953357394546 Question Type : MCQ Option Shuffling :

No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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